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Y If A is non-singular, prove that :
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(h)  Find the third proportion to (x2 — 32) anq
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(b) Find the points of loca] Mmaxima or

minima of the function f{x) = x -1

x + 2)2 Find also the loca] maximum

and minimum values,
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/63{ In how many years will a sum amount to
2% times itself at 5% pa. compound

interest.
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The simple and compound interest on a
certain sum of moncy are respectively
Rs. 40 and Rs. 41. Find the rate and

sum.

s fiftae ot W OMR dR SHIE
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Find the present value of an annuity of
Rs. 1,200 payable at the end of 6 months
for 3 years when the interest is earned at
8% per annum compounded semi-

annually. (Take (1.04)6 = 1.2653)

1,200 ¥93 &t aifft &1 S9H god @@
Hifeq st 3 =¥ & fow wfa 6 W @
31 @ ¢ wafs Sl = wfa o
8% W afSfa e wmr ® 1 ((1.04)6 =
1.2653) wifeq)

A loan of Rs. 10,000 is repaid at 5% p.a.
compound interest in 12 equal instalments
beginning at the end. of first year. What
annual payment is necessary ?
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& A el 12 wae. frell § 5% Wi
T awgfs W W ogEm YR ¥ @@

F YA sEvas € ?

8
https://www.haryanapapers.com



Section 1V
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8. (a) Scats for Arts, Commerce and Science in
a college are in the ratio 5 : 7 : 8. If the
seats are increased by 40%, 50% and
70% respectively, what will be the ratio
of increased seats ?
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9. (a)

(b)
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A machine depreoiates at the rate of 10%
every year. It was purchased three years
ago. If the present value is Rs. 8,748,

find the price of its purchase.

F WA ufded 10% # A qeagm
w ? 1 @ i a9l wed @l T oan
IR TEE qew 8,748 F ¥, @ @
TR F Fhwa g@ Ffw |

A shopkeeper sells one-third of his goods

at a profit of 10%, another one-third at a
profit of 20% and the rest at a loss of 6%.

What is his overall profit percentage ?

TF FHARR 0 A6 &1 TH-fer 10%
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